T

:

© 1999 American Chemical Society, Org. Lett., Wang 01991100g Supporting Info Page 1

SUPPORTING MATERIAL

A Novel Route to Pyrrolo[Z,l-c][1,4]Benzodiazepine-S'—ones (PBDs). Formal
- Total Synthesis of ()-DC-81

By Tiansheng Wang, Alfred S. Lui and Ian S. Cloudsdale
.Experimental Sectidn

N-allylisétoic anhydride Sa was purchased from Maybridge. Reagents and solveﬁts were uéed as
received from commercial suppliers. TLC was performed on pre-coated silica gel 60 F,s4 plates from
Merck using rea'genf—grade solvents. Flash chromatography wa:s performed using Merck silica gel 60
(230400 mesh). 'H-NMR were performed at 300 MHz and *C NMR at 75 MHz in CDCl; unless
ofherwise speciﬁéd. Chemical shifts are in ppm downfield from int¢mal tetramethylsilane. IR spectra
were recorded on a Perkin-Elmer 1600 FT IR spectrometer. Mass sﬁectra were recorded on a HP
5989B spectrometer. HRMS were performed by Mass Spectrometry Facility of University of

California, Berkeley. Elemental analyses were conducted by Galbraith Labbratories, Inc.

H300:©\COOH - H3CO COOCHg
6 7
Methyl 4-benzyloxy-3-methoxybenzoate (7): A suspension containing 4-benzyloxy-3-
methoxybenzoic acid 6 (14.69 g, 56.88 mmol), potassium carbonate (15.7 g, 114 mmol) and methyl

todide (5.3 ml, 85.5 mmol) in acetoné (300 ml) was heated under reflux for 3 h. After filtration and

washing with dichloromethane, the combined filtrates were concentrated under vacuum to a residue,

S-1




© 1999 American Chemical Society, Org. Lett., Wang 01991 100g Supporting Info Page 2

which was re-dissolved in dichloromethane (200 ml). The resulting solutibn was washed with water (2
x 50 ml), dried (Na,SO4) and concentrated. The residue was triturated with methanol to afford 7 (9.07
g, 58.6%) as white solid. Mp. 80.5-82°C (MeOH); TLC (SiOz; hexane/ethyl ether; 11) R¢=0.55; 'H-
NMR (300 MHz, CDCl;) 8 7.62-7.32 (m, 7 H), 6.89 (d,J=8.4 Hz, 1H),5.20(s, 2 H), 3.92(s,3 H)
3.87 (s, 3 H); ¥3C-NMR (75 MHz, CDCl;) 6 166.77, 152.07, 149.11, 136.33, 128.59, 128.00; 12A7.17‘,
123.32, 122;96, 112.47,70.74, 56.02, 51.89; API-TIS m/z: 272 (M). Cacl for C|6H1664: C 70.58; H

5.92. Found: C.70.29; H 5.77.

BnO ’ BnO NO»
n
j@ - Hacojij[,(om3
H3CO COOCH3 0
7 | ' 8

Methyl 4-benzyloxy-S-methoXy-Z-nitrobenzoate 8): Tob a solution of methyl ester 7 (8.76 g, 32.17
mmol) in dichloromethane at 25°C (dry ice/carbon tetrachloride bath) was added a fresh prepared |
mixture consisting of tin (IV) chloride (40 ml of 1M in dichloromethane solution, 40 mmol) and
fuming nitric acid (2.14 ml, 51 mmol) in 3 min. The resulting mixturel was kgpt at -20°C for 10 min,
Water (100 ml) was added to the reaction and the mixture was separated. The aqueous phase was
extracted by ethyl acetate (2 x 80 ml) and the combined organic phases were washed with brine and
dried under sodium sulfate. Concentration under vacuum then ga,ﬁe a residue that was triturated with
methanol to generate 8 as a white solid (8.43 g, 82.6%). Mp. 126;127°C (needles from MeOH); TLC
(SiOa, héxane/ethyl ether, 1:1) Rg=0.32; 'H-NMR (300 MHz, CDC13) 5 7.66.(s, 1 H), 7.63-7.34 (m, 5 |
H), 7.08 (s, 1 H), 5.21> (s, 2 H), 3.98 (s, 3 H), 3.91 (s, 3 H); 3C.NMR (75 MHz, CDCl;)‘S 166.30,

153.08, 149.38, 140.97, 135.13, 128.82, 128.55, 127.51, 121.97, 111,'06’ 108.95, 71.44, 56.61, 53.21;

S-2




© 1999 American Chemical Society, Org. Lett., Wahg_ 01991100g Supporting Info Page 3

API-TIS m/z: 317 (M). Anal. Cacl. for Ci¢H;sNOg¢: C 60.57; H 4.77; N 4.41. Found: C 60.47; H 4.59;

N 4.38.

BnO NOs BnO NHy
HaC OerCHg B HSCO:GE,(OCH3
O -0
8 - s

Methyl 2-amino-4-benzyloxy-5-methoxybenzoate (9): To‘a solution of 8 (6.34 g, 19.98 mmol) in
dichloromethane (100 ml) and methanol (50ml) was added nickel (II) chloride hexahydrate (1.5 g,.6.3
mmol). Sodium borohydride (2.5 g, 66 mmol) was then addgd in portions to the reactidn at 0-5°C in 30
min. The solvents were evaporated under vacuum and to the resulting residue was added cold 2 N
hydrochloric acid (100 ml). The mixture was extracted with ethyl acetate (3 x 80 ml). Aftcf washmg
with brine (30 ml) aﬁd drying (Na;SOys), the organic layer was evaporated undef vacuum.
Recrystalization of the residue gave 9 as an amorphous solid (5.50 g, 95.8%). Mp. 128-128.5°C
(needles from MeOH); TLC (SiO,, hexane/ethyl ether, 1:1) Rf=0.41; IH-NMR (300 MHZ, CDCl) 3
7.42-7.30 (m, 5 H), 7.34 (s, 1 H), 6.15 (5, 1 H), 5.49 (b s, 2 H), 5.11 (5, 2 H), 3.84 (s,3 H); 3.82 Gs,3
H); PC-NMR (75 MHz, CDCl;) § 168.07, 153.91, 146.85, 140.81, 136.14, 7128.59, 127.98, 127.05,
113.10, 102.27,'101.01, 70.35, 56.51, 51.29; API-TIS m/z: 288 (M). Anal. Cacl. for C;cH;7NO4: C

66.89; H 5.96; N 4.87. Found: C 66.70; H 5.69; N 4.81.

BnO NH» BnomE’
OH
HscOII ~OCHs HaCO”
L0 O

9 10

S-3




© 1999 American Chemical Society, Org. Lett.: Wang 01991100g Supportingl Info Page 4

2-Amino-4-benzyloxy-5-methoxybenzoic acid (10): A solution of 9 (4.88 g, 16.98 mmol) in 2 N
sodium hydroxide (60 ml) and methanol (60 mL) was heated at reflux for 1 h. Methanol was removed
by a rotary evaporator and the aqueous residue was acidified to pH 2 )&dth cold concentrated
hydrochloric acid. Filtration and washing with water then gave the acid 10 as solid (4.55 g, 98.0%).
Mp. 190-193°C (MeOH); 'H-NMR (300 MHz, DMSO-dg) 8 7;84-7.45 (m, 5SH), 7.3‘7 (s; 1H), 7.09 (s,
1H), 5.22 (s, 2H), 3.82 (s, 3H); *C-NMR (75 MHz, DMSO-dg) 8 167.67, 152.42, 143.82, 136.93, |

136.11, 128.57, 128.25, 128.18, 113.41, 108.90, .105:13, 69.86, 55.97; API-TIS m/z: 274 (M+1).

. ' H
BnO NH, - _ BnO NYO
H3CO: : ;I]/OH' ' Haco: : ;[ro
O o}

10 E 11

7-Benzylox&-6-methoxyisatoic anhydl;ide an: A suspénsion of the acid 10 (2.88 g, 10.54 mmol) in
2N sodium hydroxide (30 ml) was warmed to a‘clear solution énd then cooled to room temberature. A V‘
20% phosgene-toluene solution ( 15 ml) was then added. After stirring at room temperaturéfor 2 h, the
| feaction was filtered and the resulting solid was washed with 2% methanol in water (20 ml). Drying-
under \}acuum then gave 11 as an tan solid (2.5 g, 81.1%). Mp. 234-235°C (acetoniﬁile-ether); H-
NMR (300 MHz, DMSO-d¢) & 11.74 (s, 1 H), 7.58-7.52 (m, SH), 7.39‘(s, 1H), 6.86 (s, 1H), 5.31 (s,

2H), 3.93 (s, 3H); "C-NMR (75 MHz, DMSO-d¢) & 159.35, 155.40, 147.32, 145.80, 137.47, 135.56,

128.52, 128.27, 128.07, 108.84, 101.41, 99.01, 70.25, 55.93; API-TIS m/z: 300 (M+1).




© 1999 American Chemical Society, Org. Lett., Wang 01991100g Supporting Info Page 5

S

H
N

BnO YO BnO NYO
H3CO: : ’\n;o Haco: : ;[(O
o) ‘, 0
11 5b

N-Allyl—7-benzyloxy-6-methoxyisaFoic anhydride (5b): To a sblution of 11 (2.00 g, 6.68 mmol) in
N,N-dimethyl acetamide (30 ml) was addevd sodium hydride (0.245 g, 10.2 mmol) in.3 min. The
resulting solutiqn was stirred at room temperature for 30 min. Allyl bromide (1.05 ml, 12.1 mmol)
was added. After stirring at room t\emperature for 12 h, water (60 ml) was added. The mixture was
extracted with dichloromethane (3 x 20 ml). The combined extracts were washed with brine and dried.
Removal of solvent under vacuum gave the residue, which was washed with émall amount of ether to
afford 5b as white solid (1.98 g, 87.3%). Mp. 148-149°C (ethyl acetate-hexane); TLC (Si0,, hexane /
ethyl ether, 1:1) R¢=0.10; "H-NMR (300 MHz, CDCl3) § 7.49 (s, 1 H), ‘7.41-'_7.35 (m, 5H), 6.54 (s, 1
H), 5.82-5.70 (m, 1 H), 5.27 (s, 2 H), 5.19 (d, /= 10.4 Hz, 1 H), 5711 (, .f= 172 Hz, 1 H),4.52(d,J
=4.9 Hz, 2 H), 3.95 (s, 3 H); *C-NMR (75 MHz, CDCl3) & 158.21, 155.61, 148.15, 146.50, 137.17,
135.10, 130.18, 128.98, 128.56, 126.87, 118.37, 110.37, 103.55, 99.65, 71.38, 56.42, 47.23; API-TIS

m/z: 340 (M+1); Anal. Cacl for Ci1oH17NOs: C 67.25; H 5.05; N 4.13. Found: C 67.10; H 4.93; N 4.01.

{ ?OCF:;
N o N :
@‘(\g - @’( H\/\/ Br
0O O
5a : 13a

S-5




© 1999 American Chemical Society, Org. Lett., Wang 01991100g Supporting Info Page 6

2-(Allyl-trifluoroacefyl-amino)—N-(3-bromopropyl)-behiamide (13a) : To a solution of N-
allylisatoic anhydride (2'.03 g, 10 mmol) in 20 ml acetoriitrile was added triethylamine (2.7 ml, 20
mmol), followed by 3-bromopropylamine hydrobromide (3.0g, 13.7 mmol). After stirrihg at room
temperature for 5 h, the reaction was evaporated under vacuum and the residue was purified by flash
cMomatography (Si0,, hexane/ethyl ether, 3:1) té give 2.869 g of allylaminobenzamide 12. During
the condensation of the purified fractions, a new, nonpdlar spot gradually appeared on TLC. Therefore

. it was immediately acetylated as follows. The purified product was dissolved in 70 rhl
dichldromethaﬁe and triethylamine (1‘.5 mmol, 10.8 mmol) was added. To the ice;cooied reaction was
added dropwise triﬂuoroacetié anhydride (1.48 ml, 10.5 mmol). After stirring at 0°C for 5 min, the
reaction was washed with water and the aqueous phase was extracted wi‘;h dichloromethane (2 X 1.0
ml). The combined organic phase was dried (Na,SQ4) and evaporated. The residue was puriﬁéd by
flash chroﬁlatography (Si0;, hexane / ethyl ether, 1:1) to afford 3‘.1,15'4 g of the 13a as a white splid
(79.2% over 2 steps). TLC (SiO,, hexane/ethyl ether, 1:1.)-Rf= 0.26; '"H-NMR (300 MHZ, CDCl3) 6
7.61 (dd, J=7.1 and 1.6 Hz, 1 H), 7.52-7.41 (m, 2 H), 7.21 (d, J = 7.4 Hz, 1 H), 6.93 (br t, ] = 5.4 Hz,
1 m, 5.89-5.76 (m, 1 H), 5.17 (d, J= 10.0 Hz, 1 H);-5.09 (d, J = 17.1 Hz, 1 H), 4.74 (dd, J=14.6 and
5.6 Hz, 1H), 3.87 (dd, J='14.6 and 7.6 Hz, 1 H), 3.52 (brd, /= 6.6 Hz, 2 H), 3.44 (t,J= 6.5 Hz, 2 H),
2.13 (t, J= 6.6 Hz, 2 H); '3C-NMR (75 MHz, CDCls) & 166.66, 156.21 (@)= 3‘5‘Hz, CO-CFy),
136.55, 133.90, 130.81, 130.58, 130.48, 129.31, 128.00, 119.73, 116.07 (q, J = 287 Hz, ‘CF3), 54.74,
38.34,31.68, 30.48; IR (film) vmax: 3346, 2934, 1697, 1650; 1599, 1534, 1488, 1450, 1303, 1195,

| 1152',_ 931, 757 cm™'; MS m/z (rel intens) 395 (3),393 (3), 325 (3), 323 (2), 314 (1), 313 (7), 297 (2),
295 (3), 281 (7), 280 (26), 279 (10), 278 (25), 265 (2), 263 (2), 256 (17), 153 (7), 251 (7), 244 (4), 243
(21), 228 (2), 226 (1), 217 (2), 216 (10), 215 (9), 199 (12), 186 (14), 172 (14), 171 (38), 168 (5), 160

(7), 159 (19), 158 (100), 157 (36), 147 (7), 146 (52), 144 (11), 142 (6), 132 (16), 131 (18), 130 (42),

S-6




© 1999 American Chemical Society, Org. Lett., Wang 01991100g Supporting Info Page 7

129 (8), 118 (11), 105 (17), 104 (14), 103 (18), 102 (11); Anal. Cacl. for CisHi6BrF3N,O,: C 45.82; H

4.10; N 7.12; Br 20.32; F 15.11. Found: C 46.09; H 4.22; N 7.32; Br 20.09; F 15.03.

i

{ COCF3
BnO N._O - BnO Nox
Y | N Br
HaCO 0] H3CO ~TN
o) - 0
5b 13b

2-(Allyl-triﬂu0roacetyl)—amino-4-benzyloxy-N-‘3-(bromopropyl)-5-m§thoxy-benzamide (13b):

To a solution of 5b (0.339g, 1.0 mmol) and triethylamine (0 18 ml, 1.3 mmol) in dichloromethane 63
ml) was added 3-bromopropylamine hybdrobromide (0.259 g, 1.2 mmol). After stirring at room
temperature for 2 h, additional triethylamine (0.18 ml) and 3-bromopropylamine hydrobromide (0.259
g) were adde‘d. After 2 h, the TLC (SiO,, ethyl acetate/hexane, 1:1) indicated that most of the 5b had
been consumed. The solvents were evaporated and the residue was partitioned between water (30 ml)
and dichlororﬁethane (50 ml). The separated organic layer was dried and ;:oncentrated in vacua. The
crude product was dissolved in dichloromethane (Sml) and cooled to 0°C. Triethylamine (0.21 ml, 1.5 4
mmol) and triflouroacetic anhydride (0.2 ml, rﬁmol) were added. After 10 min, the reaction was
warmed to room temperature and concentrated under vacuum. The residﬁé was dissolved in
dichloromethahe (B0 ml) gnd washed with water (15 ml). Drying (Na;SO4) and évaporating gave the |
crude product which was purified by flash chromatography (SiO», ethyl acetate / hexane ‘-1 2) to
gé’nerate 13b as an 0il (0.31 g, 58%). TLC (SiO,, ethyl acetate / hexane, 1:1) R¢= 0.60; 'H-NMR (300
MHz, CDCl;) & 7.37-28 (m, 5 H),.7.1‘1 (s, 1 H), 6.62 (s, 1 H), 6.31 (t, /=6.4 Hz, 1 H), 5.71-5.62 (rh, 1

H), 5.25-4.92 (m; 4 H), 4.72 (dd, J= 14.4 and 5.6 Hz, 1 H), 3.93 (s, 3H), 3.78 (dd, J= 14.4 and 7.8

S-7




© 1999 American Chemical Society, Org. Lett., Wang 01991 100g‘Supporting Info Page 8

Hz, 1 H), 3.56-3.43 (m, 4 H), 2.16-2.04 (m, 2 H); "C-NMR (75 MHz, CDCls) § 166.23, 156.34 (q, ] =
'35 Hz, COCF3), 149.55, 149.03, 135.61, 130.62,‘ 129.57; 128.54, 127.48, 127.00, 126.47, 120.00,
116.16 (q, J = 287 Hz, 4CF3), 116.15, 110.84, 70.99, 56.14, 54.91, -38.52, 31.75, 30.74; IR (film) Vmax:
3350, 3066, 3014, 2940, 1694, 1650, 1601, 1504, 1454, 1354, 1269, 1204, 1150, 1038, 1020, 915, 871,
755, 698 cm™'; MS m/z (el intens) (CI) 531 (19), 529 (20), 489 (3), 477 (5), 452 (4), 451 (16), 450
(29), 449 (100), 439 (3), 409 (15), 392 (6), 379 (18), 359 (27), 132 (8), 115 (48), 114 (17); Anal. Cacl

for Cy3H24BrF3N,04: C 52.19; H 4.57;N 5.29. Found: C 52.32; H 4.86; N 5.27.

C|>OCF3 , (‘JOCF5 -
' N ' : NX
H Br :
~ N .
_ N\/\/Brr
O 0]

13a : . 15a

4-(3-Bromopropyl)-l-triﬂuoroacetyl-1, 4-dihydrobenzo{e][1,4]diazepin-5-one (15a): Ozone was
bubbléd through a sblution cdntaining 13a (2.5778 g, 6.56 mmol) in dichldrorhethane (60 ml) and
methanol (10 ml) at —78°C until a blue colqr persisted for 5 min. After bﬁbbling with nitrogen for 5
min, dimethyl sulfide (0.53 ml, 7.2 mmol) was added and _the reaction was warmed from —78°C to

~ room temperature in 2 h. Tﬁe solvents were removed under vacuum and the residue was dissolved in
dichloromethane (100 ml). Washing with Water, dfying (Na;S04) and evaporation then gave the crudé,
hemi-aminal which was dissolved in benzene (45 ml). After addition of camphorsulfonic acid (0.2 g)
and connection to a Dean-Stark trap, the benzene solution was refluxed overnight. Evaporaﬁon
followed by purification by flash column (SiO,, ethyl ether / hexane, 1:1) then afforded pure 15aasa
viscous oil (1.7144 g, 69.3%), TLC (SiO;, hexane/ethyl ether, 1:1) Rf=10.35; 1H—‘_NMR (300 MHz,
CDCl3) o 7.92 (dd, J=7.8 and 1.3 Hz, 1 H), 7;‘59 (td,J=7.7 aﬁd 1.5Hz, 1 H), 7.45 (brt,J="7.5 Hz, 1

H), 7.31 (brd, J= 7.9 Hz, 1 H), 6.44 and 6.39 (br s, 1 H), 6.14 (d, J = 5.6 Hz, 1 H), 4.31-4.10 (m, 1

S-8




© 1999 American Chemical Society, Org. Lett., Wang 01991100g Supporting Info Page 9

H), 3.54.3.44 (m, 3 H), 2.28-2.20 (m, 2 H); "C-NMR (75 MHz, CDCly) 8 166.22,155.20 (g, J=36
Hz, COCF3), 141,29, 132.74, 132.10, 129.88, 129.46, 128.50, 125.61, 116.95, 115.94 (g, /=286 Hz,
CF3), 47.79, 31.12, 30.03; IR (film) Umax: 3084, 1719, 1648, 1602, 1578, 1455, 1407, 1306, 12#0,
1230, 1203, 1113, 1084, 923, 885, 746 om™; MS m/z (rel intens) 379 (4), 378 (26), 377 (6), 376 (26),
361 1), 359 (1), 331 (1), 329 (1), 310 (10), 309 (63), 308 (13), 307 (64), 298 (4), 297 (23), 281 (11),
279 (10), 265 (4), 242 (4), 229 (38), 200 (4), 187 (27), 171 (6), 146 (6), 145 (9), 144 (21), 143 (5), 133
(10), 132 (100), 130 (5), 123 (16), 121 (16), 117 (10), 116 (10), 104 (10), 103 (10), 89 (9), 77 (22), 76
(16), 69 (9), 51 (4);Anal. Cacl for C1HpBrFsN,0y: C 44.58; H 3.21; N 7.43; Br 21.19; F 15.11.

Found: C 44.46; H 3.31; N 7.61; Br 21.05; F 15.03.

COCF,
BnO. N\/\ BnO LR \
N Br 3
3 H300: : Y oY .Hacojg;l/N\/\/Br
0 ‘ ' 0
13b 15b

8-Benzyloxy-4-(3-bromopropyl)-7-meth0xy-l-triﬂubroacetyl-1,4-dihydrobenio[e] 1‘,4]diazepin-5-
one (15b): The process for 15a was 'repeated, starting from 0.1464 g (0.28 mmol) of 13b, 0.064 g
product 15b was obtained (45.1%), TLC (SiO,, ethyl ether/hexane, 1:1) R¢=0.31; 'H-NMR (300 MHZ,
CDCl3) § 7.45-7.31 (m, 6 H), 6.81 (s, 1 H), 6.32 (br s, 1 H), 6.09 (d,J=5.4 Hz,  H), 5.19 (d, J=12.1
Hz, 1 H), 5.08 (d, J% 12.1 Hz, 1 H), 4.29-4.11 (m, 1 H), 3.91 (s, 3 H), 3.49-3.13.@, 3 H),2.26-2.18
(m, 2 H); IR (film) vmax: 2937, 1711, 1643, 1604, 1515, 1454, 1418, 1265, 1227, 1198, 1153, 1063,
1026, 871, 751 em’™'; MS m/z (rel intens) 515 (25), 514 (98), 513 (29), 512 (100), 497 (2), 495 (3), 446

(17), 445 (65), 444 (18), 443 (69), 435 (3),434 (12), 433 (29), 432.(8), 423 (8), 417 (8), 415 (7), 401

9), 399 (8), 395 (6), 393 (6), 365 (8), 355 (10), 354 (11), 353 (15), 352 (10), 325 (7), 298 (7), 296 (8),
| S99




© 1999 American Chemical Society, Org. Lett., Wang 01991100g Supporting Info Page 10

274 (9), 268 (11), 246 (25), 189 (13), 178 (20), 177 (12), 176 (21), 175 (19), 147 (28), 123 (29), 121
(37) ; EI-HRMS m/z cacd for CHpoBrFsN,0q (M) 512.0558 and 514.0538, found 512.0564 and -

514.0542.

(':OCFs o _ (IDOCF3
N . ; N
Y . — QA
NV\/ Br _ N, ,
O (e}
15a - 16a

10-Trifluoroacetyl-1,2,3,10,1 l,lla-ﬁexahydro-benzote]pyrrolo[l.,Z-a][1,4]diazepin-5-one (16a): A -
| solution containing the benzodiazepinone 15a (1.00 g, 2.65 mmol), tributyltin hydride ’(0.655 ml, 3.31
mmol) and AIBN (0.20 g) in benzene (177ml) was degassed with argon for 5 min and then reﬂuxed
for 2 h. After cooling and adding more tributyltin hydﬁde (0.6 fnl) and AIBN (0.2 g), the reflux was
continued for another 2 h. Cooling and evaporation then gave a résidue which was purified by flash
chromatography (SiO;, 1:1 hexane/ethyl acetate) to afford 0.7145 g of 15 as a white solid (90.3%),
mp 154-155°C; TLC (SiOy; hexane /ethyl acetate, 1:1) Rf = 0.17; '"H-NMR (300 MHz, CDCl;) & 784-
7.81 (m, 1H), 7.56-7.53 (rr;, 2H), 7.27-7.24 (m, 1H), 4.41 (t,] =12.6 Hz, 1 H), 3.83-3.72 (ni; 2 H),
3.61-3.55 (m, 1 H), 3.51 (dd, J=12.8 and 4.7Hi, 1 H), 2.18-2.02(m, 3 H), 1.88-1.85 (m, 1 H); *C-
NMR (75 MHz, CDCl3) § 165.95, 157.74, (9, J=36 Hz, COCF3), 135.04, 134.33, 131.48, 129.91,
129.50, 127.85, 11‘5..94 (q, J =286 HZ, CF3), 55.79, 54.41, 46.12, 28.20, 23.09, IR (film) Vmax: 2978,
2880, 1698, 1650, 1602, 1488, 1458,1413, 1355, 1201, 1157, 1120, 1010,'898', 776,757,719, 698 cm’

'; MS m/z (rel intens) 299 (M+1, 1), 298 (M, 6), 279 (1), 270 (3), 230 (6), 229 (29), 216 (4), 201 (7),

187 (7), 186 (48), 166 (2), 160 (6)146 (3), 133 (10), 132 (100), 116 (2), 105 (6), 104-(7), 90 (5), 83




© 1999 American Chemical Society, Org. Lett., Wang 01991100g Supporting Info Page 11

(34), 77 (23), 70 (39), 51 (5); Anal. Cacl for C14H;3F3N,0;: C 56.38; H 4.39; N 9.39. Found: C 56.01;

H 4.40; N 9.31.
(IDOCF3 | ?OCFS
BnO N BnO N— H
N
Hscom'/ N\/\/ Br H3COj©;'/}§
0 0]
15b | 16b - |

8-Benzyloxy-7—methoxy-1O-triﬂuoroaceAtyl-l,Z,3,10,1 1,11a-hexahydro-benzo[e] pyrrolo[1,2-a]
[1,4] diazepin-5-one (16b): A solution contéining the bicyclic bromide 15b_(0.084 g, 0.16 mmol),
tributyltin hydride (0.057 ml, 0.0.29 mmol) and AIBN (5 mg) in benzene (13 ml) Was degassed with
argon for 5 min, and then heated to reflux for 2 h After cooling and evaporation, the residue was
purified by flash chromatography (SiO,, ethyl acetate/hexane 2.5:1) to afford pure product as a white
solid (0.065 g, 91%). Mp 199-200°C (ether/hexane); TLC (SiOa, hexane/ethyl acetate, 1:3) Rf% 0.34;
'H-NMR (300 MHz, CDCIQ) 0 7.41-7.30 (m}, 5H), 728 (s, 1 H); 6.72 (s, 1 H), 5.13 (s, 2 H), 4.34 (t, J
=12.6 Hz, 1 H), 3.93 (s, 3 H), 3.79-3.70 (m, 2 H), 3.57-3.48 (m, 1 H), 3.43 (dd, /= 12..8 and 4.8 Hz, 1
H), 2.12-1.97 (m, 3 H), 1.84-1.79 (m,1 H); *C-NMR (75 MHz, CDCl;) § i66.19, 157.31 (q, J = 36
Hz, COCF3), 150.25, 149.84, 135.67, 128.64, 128.02, 127.79, 127.25, 127.12, 115.95 (q, J = 286 Hz,
CF3), 113_.24? 111.56, 71.31, 56.16, 56.04, 54.70, 46.19,‘ 28.38, 23.14; IR (film) Vmax: 2956, 2878,
1698, 1642, 1603, 1515, 1454, 1430, 1381, 1280, 1197, 1158, 1044, 1002, 875, 753, 698, cm'l;'vMS
m/z (rel intens) 43_5 (M+1, 3), 434 (M, 10), 365 (2), 343 (1), 315 (1), 190 (1)176 (1), 175 (1), 149 (1),
122 (2), 105 (3), 92 (9), 91 (100), 89 (1); EI-HRMS m/z cacd for CyHziF3N2O4 (M") 434.1453, found

434.1463.

S-11




© 1999 American Chemical Society, Org. Lett., Wang 01991100g Supporting Info Page 12

S COCFy

N
oy — O
16a | 3a

1,2,3,10,11,1 la-hexéhydro-benzo[e]pyrrolo[1,2-a][1,4]diazepin-5-one (3a): The triﬂlAloroacetamid‘e‘ '
16a (0.7145 g, 2.40 mmol) was dissolved in methanol (10 ml) and water (2 ml). After addition of
potassium carbonate (0.5 g), the reaction was stirred at room temperatﬁré overnight.. Evaporatioﬁ gave
a white residue, which was washed thre(e.times with water and dried under vacuuni to afford pure
product 3a (0.466g, 96.2%) as a white solid. Mp 175.5-177°C; TLC (SiO.z, 5% methanol in
dichloromethane) R¢=0.37; 'TH-NMR (300 MHz, CDC13) 58.00(d,J= 8.1Hz 1H),7.17 (t,J=7.6
Hz, 1 H), 6.74 (t, J.= 7.5Hz,1 H),6.57(d,J= 8.i Hz, 1 H), 4.54 (d,J=6 Hz, 1 H), 3.89-3.77 (m,2
H), 3.70-3.61 (m, 1 H), 3.52 (dd, J=12.4 and 6.8 Hz, 1 H), 3.27 (dd, J=11.8and 10.3 Hz, 1 H),
2.27-2.13 (m, 1 H), 1.96-1.76 (m, 2 H), 1.71-1.62 (m, 1 H); *C-NMR (75 MHZ, CDCly) 8 166.79,
145.65, 132.87, 131.73, 118.67, 117.88, 117.47,57.01, 52.98, 48.09, 30.68, 22.77; IR (film) Vmax: cm’
' MS m/z (rel intens): 203 (M+1, 21), 202 (M, 100), 173 (2), 146 (2), 134 (5), 133 (46), 132 (23), 117
(3), 106 (4), 105 (41), 104 (44), 92 (4); Anal. Cacl for C1.2H14NZO: C 71.26; H 6.98; N 13.85 . Found:

C 70.95; H 7.03; N 13.83.

S-12




© 1999 American Chemical Society, Org. Lett., Wang 01991100g Supporting Info Page 13

COCF,

l \ | H
BnO N— H BnO % HO N— H |
H3CO: C;]:b HaCO N ~ HgCo N J
. 0. (o} '
o} _ - |
16b 17 ' 3b ' :

8-Hydroxy-7-methoxy-1,2,3,10,1 1,1 1a-hexahydr0-benz0fe]pyrrolo[l,Z-a] [1,4] diazepin-5-one
(3b): Té tricyclic compound 16b (0.1245 g, 0.29 mmol) in acetonitrile (9 ml) and water (2 ml) was
added potassium carbonate (0.3 g). After stirring at room temperature overnight, the solvents were
removed under vacuum. Water (50 ml) was added and the resulting susbension was exﬁacted with
dichloromethane (3 x 20 ml). The combined organic layers were dried (Na;SOs) and evaporated to
give the secondary amine 17 (0.0918 g 94.7%) as a single spot in TLC as a white solid, which was
used directly for next step. TLC (Si(jz, 4% methanél in dichloromethane) Rf = 0.40; 1H-NMR (300
MHZ, CDC13) 8 7.60 (s, 1 H), 7.3'6-7.25 (m, 5 H), 6.07 (s, 1 H), 4.99 (s,2 H), 4.53 (4, J=6.0Hz, 1
H), 3.81 (s, 3 H), 3.79-3.65 (m, 2 H), 3.60(dd,J=12 and 7 Hz, 1 H), 3.43 (dd, J= 11.8 and 7 Hz, 1
H),3.11(dd, J=11.8 and 9 Hz, 1 H), 2.18-2.10 (m, 1 H), 1.90-1.55 (m, 3 H) ; C-NMR (75 MHz,
CDCl) 166.25, 151.63, 141.79, 141.43, 136.47, 128.45, 127.81, 127.12, 115.19, 110.24, 102.53,

70.36, 57.66, 56.22, 52.62, 48.33, 30.76, 22.72.

The crude amine 17 was dissolved in methanol (5 ml). After addition of 10% palladium on cérbon (10
mg) and ammonium formate (0.3 g), the _suspension was heated to reflux for 1 h. The rcaction' was
cooled, filtrated through celite and washed with methanol-dichloromethane (1:2). Evaporation gave
the residue which was absorbed on silica gel and was chromatographic (SiO», 4% methanol in
dichloromethane) to afford pure 3b as a white solid (0.0523 g, 53.9% over 2 steps). Mp 248-250°C

| (methanol); TLC (510,, 4% bmethanol in dichloromethane) R¢= 0.20; "H-NMR (300 MHz, methanol-

da) §7.29 (s, 1 H), 6.08 (s, 1 H), 3.74 (s, 3 H), 3.64 (dd, J = 7.2 and 5 Hz, 1 H), 3.56-3.49 (m, 1 H),

S-13




© 1999 American Chemical Society, Org. Lett., Wang 01991100g Supporting Info Page 14

3.23 (brs, 1 H), 3.45 (dd, J = 12.7 and 1.7Hz, 1 H), 3.04 (dd, J = 12.7 and 8.8 Hz, 1 H), 2.20-2.12 (m,
1 H), 1.89-1.61 (m, 3 H); "C-NMR (75 MHz, methanol-ds) § 169.54, 152.76, 145.10, 142.18, 116.04,
110.22, 105.42, 59.90, 57.13, 54.09, 31.92, 31.07, 24.06; CI MS: 249 (M+1); MS m/z (rel intens) 248

(M, 100); EI HRMS Cacd for Cy3H;6N20s: M*,>248.1 161, found 248.1160.

S-14




v 0 I 2 £ v S g L 8 wdd
— | ; { ) | : 1 R | . | . L . [ . L .
o 5
o
< wlw n — |l >
A ] o ° o ol g
9 1IN S 8 |all@ >
S~ oS o) S o|l@ z
5
el .
. m W3/2H (€085 6EY . KWIZM _ . v N
= w/wed 9053r 0 WOHdd ﬁ | ﬁw
m 4 B2 6PI- 24
o wod /By 0- dz24
= I EE"2r92 14
7p) wod y0B' 8 db4
ah w3 00702 X3 yA
o SuajaweJed 3070 HAN O3 .
o o}
N 00°% : 2 c
= 0 89 . *HO0 00fH
o)) I 0E°0 81 : :
.m ©0 855 :
W3 : MM oug
Mb ZHN GBIEEET 00E 5
< vBEQT 1S
W .sJolawedJed Butssaldud - 24
° 2 S0
= 8 SN
.w ERVED 0l
4 00° 0529 HMS
g ZHN 2293GE} "00E F035 .
— 2asn 0 00% 30
O Jasn 0'g . Td
N 3as 0000000 F 1]
2 o 1M
L HE SNINN
) 952 9y
@) 23sn 0°08 MO
7o) ZH SELOBT0. S34014
= 395 009rF29° 2 oy
1S £1309 INJAT0S
= oebz 904dnd -
m GE' LY ) awr)
Lpuu ~ (2V086 " a0
SyglaueJed unt3rsinbay - 24 1
O d WWwWwwwwwwwwasomnm DB NNNNNNNNNSNNNNN,
= ; ona0s g 5322R2888Bs I8REBUHEE258888225
[ae] I ONdX3 [} M= DO DALAuNDLDOOID WML W OAMVODWDNDO ANOOWD = WW
C w AOOO@e=» M DODO WD Oo M AW NNV =N LLODWN
‘= LEO-ET2-453 INVN . ) /
1) SJajsURJEd BRIEQ JUBJIND
(@)
(@)
(@)
—
©




© 1999 American Chemical Society, Org. Lett., Wang 01991100g Supporting Info Page 16

WI/TH
wd/wod
H

wod

ZH

wod

wd

ZH

ZHN

(9EYL"GLE
BI6298 L
08 0eGc
6BE 'EE

8B GEOVT
£86° 587
00" 0c

NJZH
WIWdd
cd
ded
b4
did
X2

sJajaweued 1070 gWN OF

or' ¥

0

00}

0

N3
886589V ' GL
B89/2E

Jd
89
g1
°5S
MOM
45
IS

sJalaweued Butrssaddud - 24

ZH
ZHA
Jasn
J3sn
8p
138
ap
J3sn
28s
8P

238N
H
J3s

[

(44>

9ESGS

25" 608ES
Y20EGLY "GL
070t

' 41

9¢
00000EC" 0
9¢ .
0°00F"
0000000° ¢
c

JE}

yBES?
0'te
vOEEQE'O
08LE8LE"}

€1200

pebabz
6E LY
L2r066

50

SN

alL

HMS
1045
30

vd

(4]

V1a

4]

1Ed

78]

VH
SN3TINN
9d

Ma
534014
oy
LN3AT0S
904d1Nd
Juwt ]l
ajeg

sJajaweJed UDT3I(SINDIY - g4

¥
[

(EU-ETC-MS]

ONJOHd
ONdX3
ELL

SJajaueJded 320 JuaJdnd

€HD0

i
—
P )]
w0 n
- o
-~
w o

~
-

0c0°86 ——
L 0L —

£68° 16 —

—- [ e ol el et
~N NN —_ n MDD W
OO~ n nNw~Nmo oD
w0 A P W Ww=» O WU W
~ w0 n o O ~NO O N
w N o 8] wommL O @

O0fH

oug

P42 991
wdd



02¢
1

JE: 00§ 062
1 i

nwe ‘z/w

08¢

o_mm 092 052 ove
|

2'0ce

© 1999 American Chemical Society, Org. Lett., Wang 01991100g Supporting Info Page 17

sdo 9a16°|

Ol 9°€0¢ N Py
€ 236 0'¥82

®Hoo 00fH

oug

‘_ .
T N " .
>9¢ 8'8¥2 N/

0'L¥e

o

e

L

-520°L
- 590°¢
- S90°¢
- S20°F
- S$90°S
- S80°9
5907,
- 5908
_FS90'6
- 93071
-991L°1L
F99¢2°L-
F99¢g° 1
99" L
r99STL
- 99971
99471

-998°|

=

(S2Z 03 61 SUBIS) Pa3OBIGNS ‘| L£0-E L Z-MSI WOJ4 (SUBDS §) UIW §2°0 :1D

"JUsWWO) 3jneyaq 3uawwo) dx3 INd L1:02:90 e 6661 ‘€1 Bny ‘g awi] b
SWw QG :8sned sw (| :jlemQg nwe 2°0 A4 0°0001L 03 0°'00 | :abues ssep ¢| “3dx3 ‘| pou

A ETal

fr/m~A A~ = aarms aaea)

U N o T o B B Y V]




o0
— 0 c 14 9 8 wdd
e _ 1 1 1 _ 1 1 L — 1 1 ] _ 1 b — 1 1 1
ah
[a+]
P w|w! ~ =1 3
o W | —- oliw|o; a
Gy == 100 w o, 0|2 3
o | = =10 Q; o
(= ey tw lo!i@ 0\“ st
.Mc / \ RV
= i
o
~N— . JR ) g .
$— wl/Iy §,VES 75E - WOZH T Y T N T R
Q w3/ LC3 2¥GIG 0 WIWdd _ Y . ,.._,_. ; oL
W M £8° B2~ ©2 : . : _ _ o 1
= scd 62 0- dés " ) .
v el a
%uc 42 00°02 XJ
m sJayaweJded 1070 HAN Q1
% 00t 2
— H 0E' 0 81 -
© 0 gss - . . - :
o | W3 . MaM : . 8
m ZHW E99EEET 00E 5
W PBEST IS ’ : :
sJglaweued mc_mmmuﬁa - 24 - . O
~ . €
m 2] SN - .
B3.2E 0L i
. ZH 00° 0529 HMS . ¢ON ~ ~oud
oh ZHW 2291GE}" 00E 1045 oo
O 23sn 0 00F 30
. J8sn 0°8 id
N 235 0000000 % . 21}
~
) gp ¥ ) P
.ﬂ.lv H¥ . SN30NN
o 8r0c L]
0p)] 23snh 0708 Ma
—_— ZH GELOBT 'O S3HaI4
w 135 009ric9 2 ov
.— £1002 ~AN3AT08
g 0e6z 3044 nd
D] 00" LV autL
= CEFOBE aleg
C suajawWeJed UDTITSINDIY - 24 o o - n WWWwWwwwwa s A EGS/_./_I./_LI_./_.I_./_I_.L.L.I..I_.LB.B
o : o o PO A o A WD LWDOoOON PLWS =LV WWWWA LSO mSN Y D
= ; . ONDOEd S = 0o o o AP PELEEEEN mpgdornoauOYyagwoe b NE S
O 28 E> e = 2edIabosan NOS Lo dRIRASGINNRBRES
= ' . ONdX3 W o LW w fre} CHLSBLTSIDS oo ee JOODEOO=HULOMND
BEQ-ETC-MSI 3WVN
m SJ3jaueJed BIBQ IUBJIND
% 8I-S
(@)Y
—
©




0z oy " 09 08 . 007. -~ 02r or’ 09t wad
_ 1 i 1 1 1 1 L _ l 1 L 1 i L 1 _ 1 1 1 1 1 i 1 — 1 L 1 A il 1 hlr

P

_F.~________.__>______—____k____._____

z%‘%;%;%%;}zs}

wd/2ZH 85106 899 HOZH
wd/uwod 2EE98 8 ~ WOWdd -

ZH €6°GGE 23

wod 9iL'Y : d2Jd

ZH (6 EELET |F]

wod €86° 187 dtd

wd 00°02 X2

w;mumEmLma 31070 YwN QF

ov'y 20
0 89
ZH 00°1 81
0 ) 8§55
W3 MOM
ZHW 656G89Y 5L 45
89/2E 15
sJajsweded Buissadodd - 24
2 SQ
LLvy SN
9£GG3 oL
7H 25 60BES HMS
IHW F20EGLY GL 1045
Jash 0'0E - 30 . .
33sn 0yl 14 8
8p 92 . s ) :
39S 0000DEQ 0 10 : ) 9]
gr 92 ¥S
Jasn 0°00F TEd m*Lnunu . numumTL..
33s 0000000 § 10 )
g e ¥ H z
2k SNITONN . ON ougd
89/2€E 94
2350 Q' 12 MO
ZH VOEEZE 0 534014
39S 08/89LE '} .oy
£1000 LN3AT0S
ocbabz 904dInd ’
vE'8 auwt] '
50V 066 a3eQ
SJ318URJBG UDTIISINDIY - 23 i <~ N NN S - PR D E B r T o
w o =0 N NN gL SNomoao 5 BB & g
13 DONOObd n o ADTOMN M 0w o Lo m=—= W w o n 3
2 ONdX3 : 3 & RG> L o533 5 3 <
EEQ-EF2-MSI IHYN : .

5Ua1BWRJRY €380 JUBJIND

© 1999 American Chemical chiety, Org. Lett., Wang 01991100g Supporting Info Page 19




© 1999 American Chemical Society, Org. Lett., Wang 01991100g Supporting Info Page 20

08¢ 09¢ obg 02¢€
L 1 ] .

nwe ‘z/w

00§ 082 092 ‘ 02
L.

8¢ - b E9€

sdd Gagg'9

AR B e o T
Zvse < |

0'LbE
0°LLE
W
8
0
®H00 00fH
ON oug

0d

I}

v Ty 4 VR =viaea e L SALan Lma s e
SR s

0vSe g/52
. -$90°S

001
- G957
-S90°C
- 59672
- G90°¢
- 59G°¢

- 530

595y

0'¢8¢

- §20°S

- 595°S

-590°9

FS25°9

0¢€ _
(2 01 81 sueos) pajoeigns .Wmm-m [ 2-MS] wouy (Ssueas 9) Ul $9°0 1|1

“juswwo) jjheysq Ucm.EEou ‘dx3 ‘Nd LO'DSIE0 18 6661 ‘€2 1dy ‘U4 awny
sw 0°§ :9sned ‘sw 0| :[lamg nwe 20 A9 0°000 L 03 0°001 ‘@bues ssep 1| "3dx3 ‘L po:

nNw_r

f1ca-c172-mc1 ms1) )ca-C1 7.




© 1999 American Chemical Society, Org. Lett., Wang 01991100g Supporting Info Page 21

WI/ZH 2IGET "GEY
w3/wod G250
IH Vv (G}~
wad ygG 0-
ZH 0E"GrGe
wad 18y '8
wd 00°02

WIZH
HIWdd
]
dcd
&
did
X2

SsJdjaweued I0[d HAN QF

001
0
ZH 0E'0Q
0
K3
ZHW. 2B9EEET "00E
vBEST

ad
89
81
ass
MOM
35
IS

sJajaweued Bulssadoud - 24

4
v
892
ZH 00°0Ge9
ZHW 2291GET 00E
33sn 0°00%
3asn 0'8
J3s (0000000" ¢
ap
HFE
952
J3sn 0" 08
ZH GELOBT 0
23S 008vic9’e
£1202
- pgbz
BS" LY
£05066

Sa

SN

oL

HMS
F048

- 30

td

0

PH
SN3TINN
o

L1
534014
oY
LN3AT0S
90ddNg
WL}
33eQ

SJajaweJed UDTITSINDOY - 245

¥
¥

0r0-Efc-M53

ONDOHd

ONdX3.

3NYN

sJajsweJded £IRQ IUAJIND

ehg &l

0 } 2 € v S L
| " | | .- | L | ; L
o n n - o ) M
w o o o — 3
o w
el T 3 & s
=3 ~ o o w -
€
£ 00
. ®HO0 H
c
"HN™ oug
Mu VMW\WWW/”W o wWwwwaa &b b o 0w o NNNNNSNN
. o . g D a 2 AN o
mw mw mm mw Mw mw mw mw mw mw mw.mw mw - o 8} QO WOMIW = °
o o b o - 0D WwWomowh P - DO NWO N 3
— N s n OO - W 0N N0 ~ - NOoO DO NO
o] (o~ To IS ~ - W Wwom e m n o w 1) CWoODOOWo
1T-S




- WO/ZH £BBGE BCY HIZH
wy/wod 8/y2E '8 WONdd
IH BE 69GF 24

wod G6L 02 d24

IH BS VEIVT E]

wod 162 (81 | db4

wd 00° 02 XJ
sJajaueued 3070 YWN QF

or't Jd
0. 89
4 00} 8
0 85S
. W3 ’ MOM
ZHW L108897 SL EL . )
B9L2E IS . . . : :
sJuaiswedsed Burssaloyd - 24 : : mw
2 sa
£62 SN ) 0
9EGGS ‘ 0L . . ﬁUnum++
ZH ¢G'608ES HMS
ZH $20EGLY ' SL 7045 . ®HOO
2asn ' 0F 30 . .
238N 0¥} | : . SHN oug
8p 92 gs .
2as 00000EQ 0 134}
gp 92 143
33snh Q' 00F TEd
J3S 0000000°% 10
8P € }H
JET SNITINN
¥BEST 9y
Jash §°ie MO
ZH YQEESE'D S3HO0I4
23S 09/28LE"} ov
A%} IN3A0S ,
oebdbz 90ddNd . :
v0' 8} wtl
£05066 23eQ
sJajaweJed upl}istnbay - 24 - [ o —- - —-
[3 S| NN NN o o - nON W b n &) o))
= o S o o N =0 W NN® e 5 o W @ B
' ONJ0Hd oo wow s o - ocowwm —~ @ @ W o 3
2 N B 5 5380 ¢ & s3Txz % B N
Or0-g¥e-Ms3 INYN :

sJ3jawedeg BIRQ JUBJIND

© 1999 American Chemical Society, Org. Lett., Wang 01991100g Supporting Info Page 22




© 1999 American Chemical Society, Org. Lett., Wang 01991100g Supporting Info Page 23

: ) nwe ‘z/w B , . 081
0ce 00¢ . omm owm . owm o_NN o_,m o_w "
P Y _ ! 3 A 22 T 8L 0
3 oohe ﬁ 8692 \ 02 | 0
_ . - 0961
| -520°S
o.wN_N.
-990° L
-99G° L
, 9302
-935°¢
0'88¢
-990°¢
- 99G7¢
6
i | _ : . , -990'4
®H00 OOfH
b4 : _
i ov8 - 99574
0°'9s5¢ - .
sdo g890'S (£ 03 | sueds) payengns ‘0pg-g L 2-Ms3 Wol) (sueos gL) U EL°L
YA “uaWLIo) 3jnesaq :3uswwo) *dx3 {WNd £2:91:90 e 6661 ‘el m-.,< ‘144 B.E_.
sw ('S :asned ‘sw Q' :|dMQ ‘hwe 2°0 Aq 0°0001 03 0°001 :9bues ssep - 3dx3 ‘L |

P = e ey ALACH




Rt ao
c £ 4 g 9 L B8 6 0} | w
ﬂ _ I _ A F L _ ] _ ] — L _ 1 \_ 1 H L ~ —
ah
<
A w n =1 =e - F)
L =3 S 3| |zl & 3
S =) < [G]io ITa) o
(e =} - ~Nj oo, o -
]
ah
= .
o p—] . .
Ln WI/ZH EYY0B 6FT HWIZH e v
@) ~w3/wad 2166V °0 "WIWdd ﬁ[« Ji }Jﬁ ,— -
(o ZH 89 ¥6Y X 24 . )
wl wod gyg’} ded
nn ZH L[ 0BFE 1]
wod TE9TT dfd
= w3 00°02 X : . . .
= sJalawesed 3000 HWN O} i Ot
m 00t 3 ) . 0 .
0 89 . | o 1 v ¢
Q 4 08°0 g 00 I
@] 0 mmm : . T_O
ol W3 MOM )
= ZHH 02GLPET 00E 8 2N oug
< ¥BEQT IS
W sJa3aweded BUIsSSalIodd - 25
- 2 50
2 8 SN
L '89.2E 0l
) 4 00° 0529 HMS
an ZHW 2291GET " 00E 1045
mw 3asn 0°00% El
J3sn 0'g id
W Jas 0000000°% - 18]
Lw/. gp i : TH
L HE SNITINN
Q 20% 9
% Jash Q- 08. MQ
ZH SELOBT'0 S3H014
= 23$ 009Yi29°2 By
Q €120 IN3AT0S
m ogbz 90HdINd i :
O 62°EV suti .
= G0G066 a331eg
C SJ3jaWeJRg UDT}{SIADIY - 24 ro o Wwwwwwaha [0 04 ] U NNNSNSNSNNSNNNNNND®
: : - o ODN~NDD OO - D OWAALUNU O N ~ D == = z
(e - o - - DO O W . O @DNDONOORNOINON @A = &
< ' ONDJOHd o I} ON =~ WD S W A N OODACRARRLNDONODODODO® N 3
1 . ONdX3 w oD WAaONObAOQ OO ™ N O NOOoONNLODLID &
9 ) o 0= OO NN = IR - DA PDENLDELDDODLODGO D
S [y Q-EF2-MS3 JHYN .
m sJajaweded eI20 JUaJJIND
(@)
(@)
N
—
©




© 1999 American Chemical Society, Org. Lett., Wang 01991100g Supporting Info Page 25

W3/ZH
wo/wod
4]

wod

ZH

wod

o3

ZH

ZHH

}SEBE "669 WIOZH
L1482°6 HOWgd
10°66- ‘ed
21T~ ded
(9 BBBE} . 13
TE0" ¥BI di 3
00°02 X3

SJ3lawedyed 107D YWN QF
ory Jd
o] : 89
00°€E g1
0 858
W3 MOM
TEBBBIY ' GL 45
B3L2E €3

suaysweded ButrssSadIDUd - 24

ZH
ZHA
J3sn
Jasn
8P
338
ap
J8sn
BEN
8p

Jasn
ZH
J3s

14 Sa
oooet SN
9EG59 ol
2G 608ES HMS
T2OEGLY " GL [JEN
0°0€ 30
or . ¥d
9z - e§
00000EC' 0 1210
9e ¥S
0°00% TEd
0000000 § 11¢]
€ M
JE} SN3TINN
yBESE . 94
(VAR T4 Ma
VOEEZE D S3da14
09/29LE"} oy
€1200 AIN3AT0S
oebdbz 90ddNd
FE'BT awty
G0G0B6 ajeQ
SuyajaweJed UDTITSINDOY - 24
¥ ONJObd
4 ONdX3
TyQ-ETC-MST ELL

sJajaweJded IO 3UaJJn)

0c oy 09 0B 001 oSt ov} 08t wod

____N_L_______‘._____________r_rrp.p_F\F________7___,_’rpLh_____>__h_,______

T3] LT
el B & ¥
ol <o &
Q RV
~
0]
3
O0O°H
HO
. u
ZHN oud
WwwwwddH N o] =] b D w [4)] [=)]
CoO OWoo U [v+] &) w DmoomD M ) ~ B
WML O NO W W [or) - IS _- 0 Ul e IS [2)] 3
OAMONOW O o w - ~N AN O —- o
NOw=smo b O w o w (S0 T NS ~ @




r o nwe ‘z/w .
S 00€ 052 © 002 | . 051 A
: ! L ey TorT Y - AMMAs ML Lo TV L < YRR
U7AC o vy ALY LWL o ARSI AY Y Vo { (3\_ :
: p%c Mmm w.ws_m 7< o : : f é _ J\ 8'0l¢ < V'E9L éx b1

< _ : : .9 Lpe : : 061 , .

- 0'96¢ : 0961 . on

e : . : , i : . . R A

h= . 2'8¢¢ : . .

= _ . . 8'vEL

on _

£ 5201

=

o

o,

wl ga5°|

w ;

al)

O -

S o

— - 590 N.

N

o)

p—

o

UL - G958°¢

n,

=

iy - GR0'E

ol | © psese

= O0fH .

O HO _ \

Z °HN oud

2 , -530°y

&

w 0vLe

s :

Q -895°p

o v—

=

)

=

O 590°

g

<

Q

=

o 0952 - :
‘lyg-€12- wolj (suess uw 86°0 L

m sdd GayS's (2 03 | sueas) pajoeygns ‘| g-€ L Z2-MS] 3 ( L)

% 92-S  ‘juswwon 3neya( uswwWo) ‘dx3 Nd 2:£5:°20 38 6661 ‘2L Kepw ‘U4 ”w.E_l_. !

2 sw 'S :asned ‘swi 0°| :|IPMQ ‘nwe z2°0 Aq 0°000 L 03 0°00L :aBuel ssep t| "3dx3 ‘| po!

© (Lpg9-€L2-MSL MY {bEB-ELC

© NI Ta R ‘) Kew ‘Keplid €L MmalAl




v 9 8 0} wod
L I I | ! I ' | I I L ] I L L | L L L ]
w n o o of 3
=3 =] w ofa ol &
[=} w B [IF ~NE g
< w o wm w o
(= (s3] 0] [N hre —

=
B,
j
)

SJ3jawedag ©38] JUaJJN)

~

Q\

[<P]

o
-]

oW

S

c

[T

o)

s

=

M W3/ZH BSBIB OG- WOZH

a, ~ wy/wed (92050 WOWdd ’

o, ZH 117029 v 24 . :

= wod 990°2 d24

78] . ZH BY LESE , 14

ah wod BI1°2F dtd

- W 0002 X2

m sJalaweued 30(d HAN O

— y .

o 00" ¥ d

o) ¢ - .89

.m ©ZH 0E°C : 81

0 855

mb N3 : HOK

< —v £254VET 00T S

W 78EST - 15

sJatoweded Bulssadoud - 24 )
= 2 ) 50
.w 8 : SN : H
89/2€ oL o .

o) TH 9L"GLSL HMS v : O : .

= ZHN 229FGEF 00E 1045 : :

@) 338N £°p6 El| O OO%H

N 3850 '8 Td . .

2 235 0000000" F 10 : . O\ﬁ/

L 80 ¥ TH : N oug

I3 HI SNITONN - H

Q veot 94

S J39sn 0'99 {¢]

= © IH vBIIE2'O S3HOI4

1S 238 080£29F°2 oy

= £1002 IN3AT0S

m 0gbz 9044 nd

POELE sl AN

O _ 918066 aieq .

SJalaueued chuﬁmﬁ.zcu< - 23 [

s UL LWLWWWW LWL e OLWT O NN NNNNNNN = o

< : ) ONIOHd AONDAUONDDDW OO =W DOV WW AU DU Q ~ 3

C e U A WO = WNMVNWDOoO - - D W0 H DOMmM=H OO e
o p— ML OO U b NOODODNWU O W N N oo O S Lt

bl € @ om_axu DORNANODOOWLIARN =00 - LoD G = Wwao 2]

) 9y u-EF2-MST HYN

N

N

(@)

—

©




ov 09 08 0¥ - ogl ovt " 09§ wdd

F»LLLF:::___.____:_:_:_:::._—:yr_rh__.._:_.:__-__L_I_I[_______:_:____:.:_:_____:h______:.____:::___:_—kr__________:L__._____:::

- o Adrbion

A

WI/ZH €BILE 2LS © - HWIZH

wd/wdd £2v85 ¢ WIWdd
ZH 0£°029F - 24

103 QoLrIe - d2 4

ZH €87 L90E1 T4
©wed GG gLl db 4
£3 00702 X2

§JglswedJeC 3I0[C HWN QOF

Q=

i 007} g1

0 ass
W3 MOM
1158897754 5
85/ZE 15
sussweLed Bulssaicud - 25 . —.—.
2 - - 50 O
00021 SN ¢
9EG59 , oL o) OO*H
IH 25 B08ES HMS k/
IHW T20EGLP'GL - 1045
298N 0°0E 30 0" °N oud
23sn vy Id H
e 92 28
73S 0000DED 0 110
gp 92 ¥S
2380 (007 Ed
23S 0000000} i)
WE TH .
o€ SNITONN
. ¥8EQT 9y -
23sn 052 MO
ZH VOEEZE D $3401 4
38 09£29LE " oy
€000 INIATO0S
0c6062 90ddINd F » v
6287 awt ) , . : \ J /
- | | AN T
- §J3}awRdJed UDTIISILNADIY - 24 — —- a eh e s — e — s
BEBEBss 8 3 B2 8 BRR RS 53 83 3
' ONDOHd QLU NO W o) n ©o o @ omnWm WA @ w w W 3
2 O owa 282308 B g ST B S25 23 Sz £ 4
gra-g12-#s3 INYN

SJ3jaweJed BIEQ JuaJun)

© 1999 American Chemical Society, Org. Lett., Wang 01991.100g Supporting Info Page 28




w . nwe ‘z/w
pouc : 09¢ 0142 0c¢ 0015 08¢ - 092 4 ove - 02¢e 00¢
. i 1 1 1 : 1 ] 1 . | ] 1
< i ef g bl A i Nl T AV i Rl MAValR oy T T T TP O T T oy
S et ﬁ v | o«mmm M.(%mm VI s N
2 z'see 2202 [ boo's
- 0'L¥e
20 | \ 520" 1L
=
=
_ @_ LI
(o8
=
wn -} 83072
al)
m .
— - 59572
— _ 1
% 0°/LE
= A PN - G30°€
g .
= Fgo5°€
- - S0y
ot )
Q
= 595y
o L
@) -590°'S
- i 8'L8¢
~ € 1l
.le MO/ OO*H | Fses's
o
0 oug ‘ ,
- N | L 500'9
< _
2
g -G35°9
)
=
O [ 5902
=
S
.H = mwm.N
O IR R
m 0'dog : L
O\ [ sdd 52908 (b2 03 61 Sueds) paloengns ‘/£g-€ | 2-MS) Wody (sueas QL) ulw 6.°0 1t
N
w 6Z-S “juswwio) neyaq :Juswwo) ‘dx3 ‘Wd LO:OEIED 38 6661 ‘€z Jdv ‘Ui ey t
© SW ('S :9sned ‘sw Q'| :|jemQ ‘nwe z'0 A9 0°0001L ©3 0°00 | :abues ssep 3| -3dx3 ‘L po!

(1£9:817-MS| MS1) [FE-EL12




© 1999 American Chemical Society, Org. Lett., Wang 01991100g Supporting Info Page 30

wa/zZH 2/29€ G9% HOZH
wd/wod 96055° 0 WaKdd
" ZH BLOIBE- 24
wod 909 0- ded

- IH (¥ GRIE [ E]
wdd yib0f dt 4

wd 00°02 X2

sJajaweJed 30[0 HWN QF

00°¥

Jd

0 89

ZH 0E'0 g1
0 - 888

W3 MOM
ZHW BGIEEET 00E - 45
yBESH IS

sJajaweded Buissaldud - 24

2 sa

B8 SN
89/2€ ol

ZH 00° 0529 HMS
ZHW 2291GEF 00E 1035
2asn ' 00F 30
J8s8h ("8 id
33s 0000000° ¢ 10
8P ¥ P H
HY SN3TINN

8r0z 94

23sn 0708 - MO
ZH GELOGF 'O S34014
Jas 009¥129’2 oy
£1002 IN3AT0S

0eb2 9044 INd
AAAY awty
0}5066 aseQ

SuajaweJeg unT3IISINbOY - 24

14 ONJOHd

4 ONdX3
XL EATALER JHVN
sJajaweJed B3] IUBJUND

0 c 4 o] 8 wad
| L i i | i | L ] ) |
ol ol [elolol |o P N PR PR g
3] 0| |ojalo ny o Q|0 | 2
> (02} MO | = n (] ;io|m o
F=N w wlolo [ia] o SO - —
Y M o
, A
Ty
qas
0
€
\n_u/ -00%H
07 >N “Soug

9000 0-——

LVI9 T —

- wwWw
n M ~ @
- w O W~
- oW W m o
O N - [o20R 5 )]
@] 5

NS TR c \ry

tebv L

a2
wdd




© 1999 American Chemical Society, Org. Lett., Wang 01991100g Supporting Info Page 31

wl/zH (808G BFS W3ZH

wd/wdd GOVES '8 WOHod
ZH LLVEL 23

wod FEGOF d2d

74 8€° 99LET 14

wod 21y 28t di 4

" w0002 X2

SJajawedJed 3010 PN OF

o't Jd
0 89
- ZH 007} ' a1
0 ass
W3 MOM
ZHN €46G89Y &L Ei]
.B9LC2E IS
sJupyaweded Burssadbdd - 24
2 SQ
00087 SN
9EGGS gl
ZH ¢G°608ES HMS
ZHN T20EGLY GL 1045
33sh 0°QE 30
235N 0°k1 ¥d
gp 92 es
335 Q00C0ED O 1348
gp 92 ¥S
3380 07007 TEd
23S 0000000 % 1a
gp € }H
JEV SN310NN
yBEST 9
23sh 0 fe Ma
ZH YOEESE'0 534014
335 09/29LE° 1 by
£1203 ’ LIN3AT0S
oebobz 908dINd .
6E" LY g
015066 ajeQ

suslaweJed UDTITISINDIY - 23

3 ONDJOBd
c ONdx3
E£yO-Efc-Ms] INYN
sJajaueded BIBQ JUaJIND

om .ov. om o8 00} 02t o’ 09F wdd
_ r\pil

_____h__._.________w___hh____________________,____b_.___h__ FINE D B S

as

0 00%H -

oA

/

N oug-

— - [ N e et et ot - -
E-N [8)] NN NN w o [y - www Hoh (&8}
~ [&2] =0 NN 0w W o DO mo oM~ o o (S0 o2 M
n B w o e n b o m w WwoWmw= 0 m» N »=> o n 3
n n N~NO O Nl ~ NN oo O (=
0] w o wn oo o w - N = N == b O P ] & -

Ie-S




o
@ nwe ‘z/w .
MO 00 08¢ ’ 09€ ove 0z 00¢ B
e e = TR .
o € W otz r 0'ELE | 8'292
o 0Eor . 3¢ , |
= ever ’ | 222¢ 0962 :
5 zese - $30°G
an %0
= _
= z 8¢
2 -590°L
p .
'y
=
)
=3 - Ga5' |
)
=5
b - ! R - ) . .
X \ _ - o o . - 5202
o
2 . | | g
Wa - | | | | [ 5052
5 0€
Q . 80"
—
al)
=
< L Ga5°¢
>,
~—
2
3 L Go0'y
5]
= ]
2 A
= L Ga5'y
Q
=
Q
g L 520°S
Q
=
P]
m o.nfm . B F5o5°S
. | ‘ ¢ - -MS] woJd) (sueods uiw £8°0:L0
R sdo go19'G (G2 03 07 SULdS) PaldesIgns ‘EHa-g L Z-Ms) woy ( SL)
= " TES  -uswwon ynejaq :3uswwo) "dx3 WV 81:85:60 38 6661 ‘gL Aey ‘onL Wil ‘b
© sw ('S :@sned ‘sw Q| :jl@mQ nwe 2°0 £q 00001 ©3 0'00 L :abues ssep 4] -3dx3 ‘L pou

(£4Q-€ 1 2-MS) MS}) EVA-ELZ-N




© 1999 American Chemical Society, Org. Lett., Wang 01991100g Supporting Info Page 33

. L o
om 5
e
© -
o T © I
O—-=z o) L o
r_ﬁ
e
\ L~
\ ‘ o 9680 ¢ +
SOBE0 2\ } L
00090 ¢ : - o
VB0 2 N\ L
éLsoﬁa _ o
BIEl ¢~ ' -
6/€c1 2/ L
BEGZT ¢ - .
. . v
; ]
33 "o
A\ N [
) = . . 7 |
o iy . , t e S
O giebh € = — : / |
LOETGE N T~/ L o
o GeGES E ; L
= g —— ey
EG'E —_— v Lz
7L3: [G/GB € f - S ot
S SOV A 11 M5 : | L <°©
7 /i TE906E \ ¢ BGe |
7 -
. TENLY —g_/\j_Hn
K -» 8862l ¥ < TcG o
$i%: ==\\ R
€887/ — —
£6190°G N v —— zEe e [
p6BL TG T L -
AR\ — -
81°G - L D
29026 . e i
L - N
YA . .
[ | [
8 [0
o,
;' r
q L
.
i L O
=~ 78e |
Lo
S [~
c8 -
% _
87 i
0L [ ©0
7t e
-ﬁ' L.
g !
L




© 1999 American Chemical Society, Org. Lett., Wang 01991100g Supporting Info Page 34

c91 ' ¥& ~

eV bs

869 G9

9/4°9/ ~_

100 £4° ~
ey L

C13 NMR-CDCL3

13a

=i
-
.

™)

<t

[9)f p
ntm(nlnln
oo

099°937 ~— _—
062 /97

Wdd

T T

T
80

DPM

1
120




- .
0¥T 02T 00T <--z/u
w m,mﬂ [ mv H )1t % L1 11 % [ Oﬂ [ ___ ﬂ ___ Ll _M 1 _m WK _f __ % _:: LNr bl :m_v__w ! ___ _.O__W‘m___ _FLO.- _.___ ‘_ﬂ_:_ —w_ .____W —_ ,__:__ __ L O
&n 9Ty || SLE €S TEg 67z | i | ;
£ wmE : 43 562 |
S AT €TE , | £ 0002
= % otc 8TT ,
ah : 981 C000¥
=) 952 €0T |
~— L
W tve " 0009
& 082 ”
N - 0008
=1 | _ - : o ”
= i R0y = - LT = - 0000T
B b g8l = Y oeT ,m
=) L , - 000ZT
0 o= Hm ey Lo | 971 ”
= o M B £ 000¥T
< N L ! L
- ’ 4 ’ , . C 00091
B
Q
= - 0008T
&b .
=
O - 00007
‘5 / - 00oze
& .
8% L
S A ¥8Z0L6CT :(UTW Z€/°0) ZF ULDJ . o8#8Btm
m _ .
= ek L T :IsqunN TeTA
@) o doo1/t9/qd : OFUI OSTW
m \ gz0L6zTIe :oweN ardwes
m Lm\/\/n _ I - X686S : ucwEdMumcH
o 1947 poyaewboy Butsn wd 0%:€ L6 O8Q LT ¢  PIATNDOY
m /\/2 1sx : - xo3exado
. A ¥8Z0L6CT\VIVA\T\WIHIdH\:D * aTTd
o 4000 .
o : SE-S -
o)
Al
©




© 1999 American Chemical Society, Org. Lett., Wang 01991100g Supporﬁng Info Page 36

e A AY. -
5
>-~8'T~E:‘6
T2 o
- QO
e &)
< |
b—-pw;n
-/ PETY
-1°13827
~ 2 E0ET

\/

i._r "QGPT 5
ST 88¥T .3
>—9‘eegr e

“=—— 0655
—0 o

2 - 99697
wn :

i

<

§

$

. -

\‘ .

{ . s

m Cd
e |
O
s Q = , c‘g] o
O—= o v s
\\ ‘ 8
— 4 EEBE ' e -
2a "
< g g
Q)
(@)
’ Al <v
- G 'GVEE o .
_ o @
1 — l% a ©
Y ' ™ N
P} 1 T I T T i
w a M O <
z ™ & <
v ~ ¥ ~ o <
(1 (28] n .
i




© 1999 American Chemical Society, Org. Lett., Wang 01991100g Supporting Info Page 37

) g gg . §s ‘
@ 8.8 oooBr, o B ow cSnENES
a n I 2 T 0 3D X X [ & =z X i varar ox
L. 1} BENOM~OM s 0 - Q - - 0N O W Q M M~ W ™ o w O. QO - N dMww
8% 53 2B8ESg-T gwgegh eghY 5 T EgRTegTR
1) (2 [ B Q- g'l_‘ [=} 0K m L M :‘J o @ g CI> 'I\ ‘: ('!
5q P R g 98 s 9 E & oy
o X Q [37] -t Q on (=] o -
g3 5 g g 8 8 ‘ ‘
L] —t (1]
- w wn -t
& S g 2
€ o = 8z w ] & o
L X0 O o E JJ o L) - o X = m o a. =z O
S2%F wESZ3grzeslzaubiEe2yg UaKEE838F QBTCIEER
y1LG8°0 .
80088° 0
£2106°0
05056° 0 i
1E2L6°0
gogee b
£1992° 1 .
61110°2
[9170°2
. 51/90°¢2 !
' £6680°2 .
081152
E£GEEE "2 o
o I_ESQP'BL 20 e :
gGIoOr " E—
2Leev'E !
© 74 LWy E
DL
y— —m
Z CDJQ {016V € e
. [}
o OvEOS E —768E 2@ 7]
™ pEBYLE : —'—ﬁm L
ronL'E\ . T
Q g begbL £ __ c66B°0
a 2 21128 e~/ . —00E o
T £E688°E€ . T ISGE0
L0976°E T~
.2/~ EE6c0 |
iy s
99020° ::::: 9290°2 o
gvogo'g:;;7:: 1402
69280° G
0EV2E' G i 5
G1991°G LYEQ ¥ i
12002 g-j//r_ — L
(VL19°G o
yE2EY "9
12160 '9& —
100v8 "9~ _~ __JES6 0} ;
0v605 "L 12660 |
SSSBZ‘L_\\\\_
E‘s’ié’é-i\ e [T
: |
BrBeE” (—= ' .. BlEeS :
£295E° L o
2289E "L ,
LEVIE L ‘ E
\ mdd v teaﬁa'w[ é




© 1999 American Chemical Society, Org. Lett., Wang 01991100g Supporting Info Page 38 -

W1/ZH 9818 ¥¥e NOZH -
wd/wdd g02p2°E - HOWdd
ZH- BE°0908 24
wdd G0B' 90} d2d
ZH €£8°EG62T ]
wdd G¥9° ¥LF drd
wl 00°02 X2

sJajaueged 107d HAN OF

o' 2d
o . g9
ZH 00'} o 81
0 gss
N3 MOM
ZHN B909BYY G/ ) .45
BYLZE . IS
sJupyaweded Buissaddud - 24
2 . 80
g2y SN
9EGET ’ oL
Z4 25°608BE2 - HMS
ZHN F20EGLF'BL 1045
238N (0°0€ O
RELTN VI 4 : td
8o a2 25
J3s QQ0000EQ 0 1311
8P 92 . S
33sn 0°00% 1Ed
73S 0000000} 10
Bp € PH
JE} SN3T0NN
89L2E 94
38N 0" 12 MO
ZH YOEESE'D S3H014
23S 09/23LE°} oy
£1002 IN3AT0S
ogbabz 904d N
£71°97 awtl
129066 23e0

sJajawedsed UNTIISIADIY - 24

4 ONOOHd
< ONdX3
0G0-gFc-#s3 INYN
SJajaweueg IBQ JUIJIND

. 8¢-S ,
02 - or 08 08 00F 0zt ort " 097 wdd

_____p_____p____._______LL____thh________________p___._____-F_.._____

- NWwWww ww w oo NN NN e e e e = DA DD W W
w NOO = Om A A0 S oo~ CLhWADDDOOONNDDDOOSUIWLLOLLOOO z
© ABhNWNWW FNETo R TN I DDV, OCONASOCACOCHOUMO@O O WM =N 3
e WewWo U =N N~ & O NN ANWARYODNODNYWWNLO =L NN
~ Dwdah oo W w e KEr0OWw WWODOWONNABLOM=Om ARNNIODUO
. qer . :
O
/ 18 ,ﬁ“
N
/\/Z oug
e [
4000




N
on
e .
& 4 00€ osz 002 0§T <--z/u
P oomh 1 1 _omv._ | 1 _ooﬁ_ 1 Lomm_ 1 1 1 @ 1 1 ] 1 % 1 1. L 1 ﬁ L 1 L 1 L t_ __ 1 _ O
S _ - T ] | .
M LLv 60% 6T
= 65€ -
= [ 00S
2. 6LE -
wl — .
Yy -
h %
g -
- [000T
=S
= ] ZeT
=) 625 ‘ _ o
o | : F00ST
an - ERVY o : | .
= A
=
g » | : | - 0002
e 3
p— .
ol
S
- 0052
y -
~—
9
Q
A |
—~ " 000€
RS * |
6%V
m q'g.S0867Z0 - UTW 9Z8°€ O GG/ °f 3O SbeISAY 2ouepUNAY
© qeL . -
g O T :xoqunN TBTA
-2 doo o/10/qd : o3ul OSTW
& 1NN € | T/%Uo/T .
z ° A ooH : 2 009-00T UeDS L5086Z0Ie :dweN dTdwes
m AN v : I - X686S : juswnIlsul
q_ ot8 | 110983 poyalewboy Bursn we €z:0T 86 494 LZ :  PIITNboy
. €4000 v soe :  xo3exado
X | 6¢-S Q" €L508620\YIVA\T\WEHOGH\ D oTTd
© j -



© 1999 American Chemical Society, Org. Lett., Wang 01991100g Supporting Info Page 40

1000

1500

S-40

2000 .

2500

o
o
o
M
1
1
e
(&}
o
(@) O -
O ~—t
Ts) -
™ ~
-~
c
e @ @©
b Qo
~d T 2
(1] o In-
z N LY
VIR N . @ ..
x o)) ~t O <
i




